| dE/dx estimator 1 |

0.4

0.35

0.3

0.25

0.2

0.15

0.1

0.05

Entries
Mean
Std Dev

Entries
Mean
Std Dev

...............................................

.........................................................................

Ratio

=

0.95

i e L. | n L

1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

| dE/dx estimator 2 |

0.4

0.35

0.3

0.25

0.2

0.15

=

— - Entries 10432
= : Mean 1.956
o e Std Dev 1.73
o S T N S B Entries 10432
o : Mean 1.956
o : Std Dev 1.73
= T Ll ' Lies ] | |

—=— DQM_V0001_R000000001__Global _mkFiti100i0_ RECO

0.1

0.05F"

CTTITeS TUFOZ

3.438
4.451
]

10432

¢ | Mean
""""""""""""""""""""""""""" #|_Std Dev

.......................................... .| Entries

¢ | Mean
. | Std Dev

......................................................................

.....................................................................

.....................................................................

o+

Rati

[

0.95

10 20 30 40 50 60 70 80
dE/dx number of measurements

0.95

G o e el e il

—e— DQM_V0001_R000000001__Global__mkFiti1000mod__RECO

TS
| Mean
. | std Dev

¢ | Entries
- Mean
. [ Std Dev

g

T

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


